E FRKREN  oFLe &7
& 2=

H}

S eI T 5]

Q F LI B— L
Sl ‘ \— AFER
A WRE%E R
Tt e B R 4l
Z. FARSH
B2 (mm) 8 10 15 20 25
TAEN R JE4ETE S,
FREEER (C) -25 ~ +80 (HEEARVRE &M )
IO ES (MPa) 1
P HJEE (MPa) 0.05 ~ 0.8
IKIF B =80%
TUEREE Com) 25~50
5 HOES (MPa) | HAES (MPa) AR ERERAET) dn'/min
[
. 0. 25 350 850 1270 1780 2100
Ei 1.0 0. 4 430 1060 1500 2200 2410
E 0. 63 565 1300 1680 2410 2730
fRth DR 7B 0. 1MPa I, Hm KaAbT BE.
S R R R RS M, R 1 R ) BN R ) AR Ak T AR
& D) .
IEA KT 0. 05MPa.

=, SMEREERT

o |

| o I I
= |
e ()
yr LA
FA7: mm
SR M H h A B C F L d m
L8 G1/4" 210 45 90 53 M42X 1.5 58 55 @40 M10X 1
L10 63/8" 263 20 111 70 M52% 1.5 75 58 @40 M10X 1
L15 Gl1/2" 263 20 111 70 M52X 1.5 75 58 @40 M10X 1
.20 63/4" 345 40 120 90 M52X 1.5 75 75 @40 M10X 1
125 G1” 345 40 120 90 M2X 1.5 75 75 @40

T ARHE PR TS R AN PR 7] LA - AU PR R AT B A )

010-63256246 63256248



